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1- Circle the correct answer. (9x1=9) _djg,;.,,/g_?,,,z;,,, -1
L. The father of Nuclear Science is: e LA
Dalton 3 (B) JJThomson Gz 2 (A)
Neil Bohr .4 f (D) Rutherford :,3,,, (C)
2. Bohr got noble prize in: WIS s 2
1912 (D) 1922 (Q) 1913 (B) 1190 (A)
3. The value of angular momtentum of electron in the first :%d;uoéqufr/,EuLg;}?uu:aJT% 3

orbit is equivalent to:
2 x 107 * kgm?s™! (D)

3x 10 kgm?s7! (C)

2x 10 kgm?s! (B) 1x 10 **kgm?®s~! (A)

4. How many electrons can accommodate in M shell? Yujét«'j;}gtﬁui‘fM 4
32 (D) 18 (O) 8 (B) 2 (A)

5. Electronic configuration of H is: _Laﬁ/ﬁ/v@}gdd?ui’g S
1s* (D) 1s%,2s' (C) 1s' (B) 1s* (A)

6. Which one of the following shell consists of one ?‘gmd""”/?fugfwy/;ufdj}@/; 6

subshell?

N shell N (D) M shell £M () Lshell 1, (B) Kshell £K (A)

7. 1-131 use for the treatment of: —etweid Zpwd 1-131 7

Blood cancer /f}u (D) Kidney stone u,@&;( ©)

8. The number of Isotopes of hydrogen are:
1 (D)
9. Deuterium is used to make:
Ligh water .2y (D)
2- Answer the following questions.

i How was it proved that the whole mass of an atom is
located at the center?

ii.  Who discovered proton and neutron?

iii.  Describe two characteristics of canal/positive rays.

iv.  Write electronic configuration of chlorine.

V. Write down the electronic configuration of fluorine and
Neon.

vi.  Write down the electronic configration of argon.

Vii.  How uranium nucleus breaks? write chemical equation.

viii. Where nuclear energy used produced from uranium.

ix.  Why do the Isotopes of an element have different
atomic masses?

Attempt following questions in detail.
3(a) State any four properties of canal rays.

(b)

What do you know about the discovery of neutron?
Who discovered it?

Heavy water iy$y: (C)

Cancer . (B) Goiter ¥/ (A)
e R Ry B
4 (A)
—etndeid Loty 9
Hard water s (A)

2 (O 3 (B)

Soft water Ji,o 5, (B)
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4(a) Describe the electronic configurationNa™, Mg** and J?L}Jﬁc?‘/Lc)’g~d/c)ygﬁ‘ﬁjﬁfhgw(f/l’Al3+A'Na*‘Mg2+ @4

A¥T jons. Do they have the same number of electrons e UL §20 2
in the outermost shell? L
(b) Write notes on isotopes of Carbon and Chlorine. -&Q,)/“JJ,JTLU/%AU,K )
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